Anx B - Work Completion Report

	Sign:	Approved by project manager	Remarks:	10.	9.	.8	7.	6.	5.		4.	3.		ţ	,	I.	по	Sl. No. Uni		WO date	WO no.	WOS	Block no.		Project/site	T. may
18/7/1024 51811.		manager Approved by OS team		Grand Total			Simily Champhering	Cranite chample:	Granite work	Hole drilling	CLIOTING MICH Summer	Tiling work	of given circult rework (10%	119 block staircase broken	granite rework lift sofit	119 block service lift	Seams of WOLK	Unit/floor Details of wo-1.	Contractor bill	date	Work done to	from date	GVDC Work			Crescentia Name of
	211	team					1416	10/9		73	184		のからかれて	· shre-	1	-	Qty		iII		0			Tiling	J. H. C.	iganula
S	P						rft	sft	311	r th	sft		L/s		Us		Units	ų.				- A 100			Janasan Pryarkadeni	1. 11 11 11
Sign:	Approved by Director/E&D team	,					TF116	11140		TF107	TF180		11-141		TF142		Rate ID R	On our reduited	GST hill required	WO issued?		M-codex bill ID.	Dr. site oills reg.	Dt site Lill	Sl. No. site bills	
	or/E&D team					, i	77	25	100 /	33 /	35	0076	2002		5000 r	THOUSE .	Rate Amount		20					-	s 180	
		27170	80147			38232		26970	7300	6440	ř	5200		5000												

Anx B – Work Completion Report

Date:	Date:
ion report and advice for credit to contractors. 2. Thi	is word form must be typed. 3. Use this form even if
easurement and estimate sheets only if required i.e.,	details cannot be entered above. 5. For bill amount
ectors approval is required. 6. For bill amount less the	han 10k any QS team member may sign and in place of
ber to be taken. 7. Director include - Soham, Anand	Mehta (for GHT + GMR), Sachin (for Vivopolis), B.
Entry of rate ID is mandatory. 9. This sheet must be	sent within 2 working days of work completion (with
actors to send scanned copy of bill to site and QS by	y email. 11. Contractors must submit original bills at
	ort and advice for credit to contractors. 2. Thent and estimate sheets only if required i.e., pproval is required. 6. For bill amount less to taken. 7. Director include – Soham, Ananfrate ID is mandatory. 9. This sheet must be o send scanned copy of bill to site and QS be

		_				_							-			Date:	Prep	Cont	Wor	Project	Con	A.	
						•	•							S No.			Prepared By	Contractor:	Work Description:	ect:	Company Name:	EASUREMENT SHEET	
						granite and thing work	graphs and tiling work							Item Head		12-01-2024	sultan	in in my an kaolevi	granite work	gvl	crescentia		
CHAINDELINE OF ETATIFIC SIDES	champering of granita cidale	cafeteria granite patti champhering	gate granite rework	cafeteria granite patti in mezzanine floor	cafeteria granite slab on table	cafeteria staircase work in ground floor	granite skirting work in 191 block cellar	cafeteria granite ramp work	cafeteria railing and dishwash room holes	tiles replacement in 191 block and 119 block	119 block service lobby flooring tile work	119 block staircase broken 7 step's granite rework	119 block service lift granite rework lift sofit	Item Description				pleui	2				
	800	566	1	283	6	12	100	10	-1	16	12	1	1	Length	Α								
	_	1	1	1	2	1	1	1	1	1	10	1	1	Width	В								
	1	1	12	1	1	1	1	6	1	. 4	1	1	1	Height	С			E.					
	1	1	1	1	50	2	1	1	73	1	1	1	1	No's	D								
	800	566	12	283	600	24	100	60	73	64	120	1	1	Quantity	Е			1.50		Sign:	Approved by:		
	∌	Ħ	sft	₽	sft	Tî.	¥	sft	No.s	sft	sft	lumsump	lumsump	Units	F						subba reddy		

	_		4.5	U	Note: eighty nine thousand one hundred fourty seven only		
89,147							
	1350	27	rft	50	chamfering of ramp		
	21600	27	₽	800	champering of granite side's		
	15282	27	тĤ	566	champering of patti		
	300	25	rft	12	gate granite rework		
	7075	25	гĤ	283	cafeteria granite patti in mezzanine floor		
	15000	25	sft	600	cafeteria granite slab on table	Stanite and times work	-
	600	25	rft	24	cafeteria staircase work in ground floor	المسالم المسالم المسالم	•
	2500	25	rft	100	granite skirting work in 191 block cellar		
	1500	25	sft	60	cafeteria granite ramp work		
	7300	100	No.s	73	cafeteria railing and dishwash room holes		
	2240	35	sft	64	tiles replacement in 191 block and 119 block		
	4200	35	sft	120	119 block service lobby flooring tile work		
	5200	5200	lumsump	1	119 block staircase broken 7 step's granite rework(10% of given circular rate)		
	5000	5000	lumsump	_	119 block service lift granite rework lift sofit		
Amount Item Head Total	Amount	1	Units	Quantity	Item Description	Item Head	S No.
		840(C)/823(E)	Circular no:		12-01-2024		Date:
					sultan	(n	Prepared By:
					incommon pressed principles ofer i	Name of the Contractor:	Name of th
		SV Subba Reddy	Approved by		tiles granite work	ription:	Work Description:
					gvl		Project
					crescentia	lame:	Company Name:
						SHEET	STIMATE SHEET
							100

Allowance for consumable charges mallapur.

Hyderabad.

Date: 19.03.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work: tiling work.

Towards:

Allowance for consumable labour.

S No.	Description	A
1.	Brief description of work done: Towards plumbing	Amount
	work.	Rs: 17,828 /-
	Total Amount = Rs: 89,142/-	105. 17,0207-
	Work done from date 24.09.2023 to date 16.02.2024.	er i

Amount in words-: Seventeen thousand eight hundred twenty eight Rupees only.

Sign:	116	
-------	-----	--

Allowance for Labour charges

Janardan priyanta dell' mallapur. Hyderabad.

Date: 19.03.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally

Type of Work: cuplock work.

Towards:

Allowance for Equipment labour.

S No.	Description	Amount
1.	Brief description of work done: Towards tiling and	
	granite work.	Rs: 35,656 /-
	Total Amount = Rs: 89,142/-	#
	Work done from date 24.09.2023 to date 16.02.2024.	-

Amount in words-: thirty five thousand six hundred fifty six Rupees only.

Sign:			

Allowance for Equipment

Janardan mallapur. Hyderabad.

Date: 19.03.2024

In favor of:

Crescetia Labs Pvt Ltd.

Project / Site:

GV ONE

Location:

Genome Valley, Turkapally Type of Work: tiling and granite work.

Towards:

Allowance for Equipment labour.

S No.	Description	Amount
1.	Brief description of work done: Towards tiling and	
	granite work.	Rs: 35,656 /-
	Total Amount = Rs: 89,142/-	, ,
	Work done from date 24.09.2023 to date 16.02.2024.	

Amount in words-: thirty five thousand six hundred fifty six Rupees only.

Sign:	